2. Can=Can't

s Look at the table and complete the sentences
with “can” or “can’t”.
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Peter Q Q
Tina Q Q
Ahmet Q 6
1. Peter .......... cook
2.Tina .......... ride a bike
3. Ahmet ......... swim d /
4. Peter and Tina .......... swim o
5. Peter and Ahmet .......... Jjump
6.Tina .......... jump but she .......... ride a bike
7. Ahmet ......... swim but he .......... cook
¢ 5 £ 8. Peterand Tina .......... ride a bike
Jot
9. Tina.......... jump but Peter ...........
10. Tina .......... cook but Ahmet ...........
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s Look at the table and complete the sentences
with “can” or “can’t”.
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Peter
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Tina Q
Ahmet Q

1. Peter ..¢8n.. cook.

QO g?s

v
v
Q

2. Tina .cant. ride a bike.

3. Ahmet cant. swim. d /

4. Peter and Tina ..can.. swim. o

S. Peter and Ahmet .cant. jump.
6. Tina .can.. jump but she .cant. ride a bike.
7. Ahmet .canit swim but he .can.. cook.

é@ @ 8 Peter and Tina .cant. ride a bike.

9. Tina .can.. jump but Peter .can't.

10. Tina .gant. cook but Ahmet .gan....
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